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   A seepage and strength characteristic by the rhizome of plants were examined with specimen from 
actual river levees. The weight measurement of rhizome was conducted as laboratory measurement, and 
the permeability test and box shear test were carried out as soil tests in this study. 
   As the results of laboratory measurement, the negative correlation of the degree of compaction and 
the weight of rhizome was observed. By contrast, the series of soil tests showed that permeability and 
shear strength was increased with the existence of rhizome. The safety factor of slope with rhizome was 
calculated by slope stability calculation to show that the rhizome is effective to prevent the surface sliding 
failure of river levee. 
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